UIL Accounting

Regional A-9903 (Spring 2000)
Group 1

Indicate for each of the following accounts whether the account is a nominal or real account.  Use the code R=real  N=nominal

1. Bad Debts Expense

2. Accumulated Depreciation—Equipment

3. Allowance for Uncollectible Accounts

4. Sales Tax Payable

5. Gain on Plant Assets

6. Prepaid Insurance

Group 2

Analyze each of the following entries into debit and credit parts.  When supplies or prepaid insurance are purchased, the respective amounts are debited to Supplies on Hand and Prepaid Insurance.  Using the account titles chart (which is in alphabetical order), mark the identifying letter of the correct account on your answer sheet for items 7 through 22.

	Account Titles Chart

	A. Accumulated Depr., Equipment
	
	H. Joe Max, Drawing

	B. Cash in Bank
	
	I. Merchandise Inventory

	C. Depreciation Expense
	
	J. Petty Cash

	D. Equipment
	
	K. Prepaid Insurance

	E. Income Summary
	
	L. Sales

	F. Insurance Expense
	
	M. Supplies on Hand

	G. Joe Max, Capital
	
	N. Supplies Expense


	Entries
	 Debit
	Credit

	Entry to adjust merchandise inventory from a beginning inventory of $5,000 to an ending inventory of $6,000
	#7
	#8

	Entry to record $1,000 of depreciation expense on equipment
	#9
	#10

	Entry to record $100 of supplies used
	#11
	#12

	Entry to record insurance expired
	#13
	#14

	Closing entry for the revenue account
	#15
	#16

	Closing entry for Insurance Expense
	#17
	#18

	Closing entry for Income Summary when there was a net loss
	#19
	#20

	Closing entry for owner’s drawing account
	#21
	#22
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Group 3

Use the following information to answer questions 23 through 27.  Georgia O’Tara began operating a sole proprietorship on January 18, 1999.  The fiscal year end is December 31.  On January 18, she invested $15,000 cash and $25,000 of other assets in the business.  During 1999, the company had service revenue of $65,000.  Of this amount $52,850 was collected during 1999 and the remaining amount was an outstanding receivable as of December 31, 1999.  The business incurred $42,500 of expenses during 1999 and of this amount, $3,200 was unpaid as of December 31, 1999.  Georgia O’Tara withdrew $2,000 cash from the business on August 18, 1999.

23. The company’s Cash in Bank balance at year-end was


A. $26,550          B. $35,500          C. $37,500          D. $51,550

24. The company’s total liabilities at year-end were


A. zero          B. $3,200          C. $8,950          D. $12150

25. The net income for 1999 was


A. $12,150          B. $13,550          C. $20,500          D. $22,500

26. The balance of the capital account on the work sheet’s trial balance was


A. $15,000          B. $38,000          C. $40,000          D. $60,500

*27. The balance of the capital account after closing entries was a credit of


A. $22,500          B. $40,000          C. $60,500          D. $62,500

Group 4

For items 28 through 35, write on your answer sheet TRUE if the statement is true; write FALSE if the statement is false.

28. The two types of journal entries that change general ledger account balances at the


end of a fiscal period are adjusting entries and closing entries.

29. A slide error occurs when two numbers are accidentally reversed.

30. Double-entry accounting is a system of record keeping in which each business


transaction affects at least two accounts.

31. Temporary capital accounts start each new accounting period with a zero balance,


and Prepaid Insurance is an example of a temporary capital account.

32. Liability, revenue, and capital accounts all have normal credit balances.

33. The balance sheet represents the basic accounting equation.

34. If a charge customer owes $900 and is given a 2% discount, the amount to be 


recorded in the Cash in Bank column of the cash receipts journal when the


customer pays is $882.

35. If the terms of sale are FOB destination, the buyer pays the shipping charge from


the supplier’s shipping point.
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Group 5

The following information (listed in alphabetical order) is found on the income statement of Ross Company for the first twelve months of business operation for the year ended December 31, 1999.

	Beginning Inventory
	72,000

	Cost of Delivered Merchandise
	314,550

	Cost of Merchandise Available for Sale
	375,500

	Cost of Merchandise Sold
	297,500

	Ending Inventory
	78,000

	Gross Profit
	127,500

	Net Purchases
	303,500

	Net Sales
	425,000


36. If Ross Company had $26,700 in net purchases of merchandise in the month of 

      January 2000 with net sales of $35,000 and operating expenses of $6,425, calculate 

      the ending inventory on January 31, 2000 using the gross profit method of 

      estimating inventory.  Write the correct amount on your answer sheet

Group 6

Refer to the data in Table 1 on page 9.  You may remove the table pages for convenient reference.  Answer questions 37 through 46 and write the identifying letter of the best response on your answer sheet.

37. The net sales amount is

A. $404,760

D. $542,600

B. $530,800

E. $546,520

C.  $538,680 

F. $554,400  

38. The estimated percentage of net sales that will be uncollectible is determined by

A. calculating the relationship between sales discounts and returns and allowances

to gross sales (7,860 + 3940) / 542,600 = 2%.

B. averaging the actual accounts written off in the last five year period of all 

      businesses in the area

C. accessing percentage data in trade journals

D. analyzing an aging of accounts receivable

E. reviewing Bow-Tie Company’s previous experience in collecting sales on account

39. The estimated bad debts expense for the fiscal year is

A. $  8,095.20

D. $10,852.00

B. $10,616.00

E. $10,930.40

C. $10,773.60

F. $11,088.00
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40.The accounts to be debited and credited for the estimated bad debts amount are







Debit







Credit

A.              
  Bad Debts Expense     


      
  Accounts Receivable


B.    Allowance for Uncollectible Accounts                        Revenue


C.                           Revenue




Allowance for Uncollectible Accounts


D.                  Bad Debts Expense     

Allowance for Uncollectible Accounts

*41.After the adjusting entry is posted, what is the balance of the Allowance for 


Uncollectible Accounts?


A. $8,646     B. $8,882     C. $9,118     D. $12,586     E. $12,822     F. $13,058


42.  After the adjusting entry is posted, what is the balance of the Bad Debts Expense

account?

A. zero     B. $8,646     C. $10,616     D. $10,852     E. $12,586     F. $12,822

43. The book value of accounts receivable before the adjusting entry is posted is

A. zero     B. $135,870     C. $137,840     D. $139,810

**44.The book value of accounts receivable after the adjusting entry is posted is

A.   $124,782    

D. $128,722 

B. $125,018

E. $128,958

C.  $125,254    

F. $129,194

45. The following accounts are found on which financial statement?

                Allowance for Uncollectible Accounts
     Bad Debts Expense

A.



    Balance Sheet




    Balance Sheet


B.                 
Income Statement




Income Statement


C. 



    Balance Sheet




Income Statement


D. 



Income Statement




    Balance Sheet

***46. If instead of using the net sales method the Bow-Tie Company used the aging of

accounts receivable method, and if the total estimated uncollectible amount according to the aging report is $8,240, what would be the balances in the following accounts after the adjusting entry is posted?


Bad Debts Expense

Allowance for Uncollectible Accounts
A.

$  8,240






$10,210 credit

B.

$  6,270






$  8,240 credit

C. 

$10,210






$12,180 credit

D. 

$  8,240






$  8,240 credit
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Group 7

Refer to the data in Table 2 on page 9.  Write the identifying letter of the best response on your answer sheet.

47.  The opening entries of the partnership to record the investments made by the 

 partners would include a: 

A. credit to Abbey Donald, Capital for $70,000

B. debit to Donald & Trump, Capital for $100,000

C. credit to Donald & Trump, Capital for $100,000

D. credit to Sam Trump, Capital for $60,000

48. The partners’ drawing entry on November 15, 1999 would include a debit to:

A. Abbey Donald, Capital for $10,000

B. Donald & Trump, Withdrawals for $25,000

C. Abbey Donald, Withdrawals for $10,000

D. Donald & Trump, Capital for $25,000

49. If the partnership agreement does not state how the net income or net loss is to be

     divided, each partner’s share of 1999 net income would be:


 Donald

  Trump
A.
$67,200

$16,800

B.
$42,000

$42,000

C.
$58,800

$25,200

D.
$33,600

$50,400

*50. If the partnership agreement states that net income or net loss is to be divided

based on each partner’s original investment in the partnership, each partner’s

share of net income for 1999 would be:


 Donald

  Trump
A.
$67,200

$16,800

B.
$42,000

$42,000

C.
$58,800

$25,200

D.
$33,600

$50,400

*51. If the partnership agreement states that net income or net loss is to be divided 

on a fractional share basis and the ratio is 4 to 1 for Donald and Trump respectively,

each partner’s share of net income for 1999 would be:


 Donald

  Trump
A.
$67,200

$16,800

B.
$42,000

$42,000

C.
$58,800

$25,200

D.
$33,600

$50,400

52. The closing entry to close net income would include a

A. debit to the account called Donald & Trump, Capital

B. credit to the account called Donald & Trump, Capital

C. debit to Income Summary

D. both B and C
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Group 8

Refer to the data in Table 3 on page 10.  The two plant assets are owned by the Let’s Go Travel Agency whose fiscal year ends December 31.  These are the only assets in the travel equipment account.  For questions 53 through 58, write the identifying letter of the best response on your answer sheet.  Round to the nearest cent.

53. The depreciation expense recorded in 1999 represents how many months?

            Motor Coach        Passenger Van
 
A.

12




12


B.

  6




11


C. 

  5




12


D. 

  6




12


E. 

  5




11

54. The book value of the passenger van on January 3, 1999 is

A. zero

B. $36,000

C. $55,000

D. $60,000

E. $160,000

55. The passenger van will have an entry for depreciation expense in years 1999 through

A. 2003

B. 2004

C. 2009

D. some year beyond 2015

56. In 1999 the travel equipment account will increase as follows

           Motor Coach
  Passenger Van

A. 
$110,000


$60,000


B. 
$110,000


$55,000


C.
$160,000


$55,000


D.
$160,000


$60,000

*57. The motor coach will have an entry for depreciation expense in the final year as 

        follows:

Amount
Year

A.
$  5,500
2008


B. 
$11,000
2008


C. 
$  5,500
2009


D.
$11,000
2009

*58. After the adjusting and closing entries are posted to the general ledger for the year

     ended in 2001, Accumulated Depreciation—Travel Equipment will have a balance of:

A. $73,623

B. $74,540

C. $80,040

D. $145,460
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Group 8 continued

Continue to refer to the data in Table 3 on page 10.  For questions 59 through 64, write the correct amount on your answer sheet.  Round to the nearest cent.

59.   What is the amount that will be credited to Accumulated Depreciation—Travel 

 Equipment for the passenger van only in 2003?

*60.  What is the book value of the motor coach at the end of year 2006?

*61.  What is the amount of depreciation expense recorded for the passenger van only in


2001?

62.  What is the book value of the passenger van at the end of year 2003?

***63. If the straight line method had been used for the passenger van, by what amount


would the book value at the end of year 2001 have exceeded the book value using


double declining balance?

*64. If Let’s Go Travel Agency sells the motor coach on 12-31-03 for $125,000, what is

 the amount of the gain?

Group 9

Refer to the information in Table 4 on page 11.  Answer questions 65 through 69 by writing the identifying letter of the best response on your answer sheet.

65. Calculate the cost of the ending inventory using the specific identification method.

Of the 28 hard disk drives on hand, 6 were purchased in February; 8 in June; 4 in

September; and 10 in November.

A. $2,520

B. $2,730

C. $2,867

D. $3,080

*66. If 220 units were sold during the year, the results of using FIFO inventory costing

 method would be



  Cost of Ending
        Cost of 



      Inventory
   
Merchandise Sold
A. 

$  2,730


$35,670

B.

$13,950


$24,450

C.

$14,900


$23,500

D. 

$15,872


$22,528

E. 

$16,675


$21,725

*67. If 300 units were sold during the year, the results of using LIFO inventory costing

 method would be



  Cost of Ending
        Cost of 



      Inventory

Merchandise Sold
A. 

$  6,850


$31,550

B.

$  7,680


$30,720

C.

$  8,250 


$30,150

D. 

$14,900


$23,500

E. 

$16,675


$21,725 
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68. If 310 units were sold during the year, the results of using the average-cost inventory costing method would be



Cost of Ending

        Cost of 



    Inventory
   
Merchandise Sold
A. 

$     375


$38,400

B.

$  5,850


$32,550

C.

$  6,656


$31,744

D. 

$  7,150


$31,250

E. 

$31,744


$  6,656

69.  Regardless of which inventory costing method is used, which of the following is 

       false?

A. The cost of the beginning inventory is $8,800.

B. During a period of decreasing prices, the LIFO inventory costing method will usually result in the lowest cost of merchandise sold.

C. The cost of merchandise available for sale is $38,400.

D. The higher the ending inventory, the lower the net income amount.

E. The total number of units available for sale is 375.

Group 10

Refer to the data in Table 5 on pages 11 and 12.  Answer questions 70 through 80 by writing the correct amount on your answer sheet.  The financial statements will not be reviewed by the contest graders.

70.  What is the amount of cost of merchandise sold?

71.  What is the book value of Accounts Receivable on 12-31-99?

72.  What is the book value of the equipment on 12-31-99?

**73. What is the amount of 1999 purchases of merchandise?

74.  What is the amount of 1999 Depreciation Expense?

75.  What is the amount of 1999 Insurance Expense?

76.  What is the amount of gross sales?

77.  What is the amount of 1999 Supplies Expense?

**78. What is the subtotal amount of the balance sheet debit column on the work sheet

 before net income or loss is calculated?

**79. What is the subtotal amount of the balance sheet credit column on the work sheet

 before net income or loss is calculated?

***80. What is the subtotal amount of the income statement credit column on the 

 work sheet before net income or loss is calculated?

This is the end of the exam.  Please hold your answer sheet and test questions until the contest director calls for them.   Thank you!
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TABLE 1

(for questions 37 through 46)

The Bow-Tie Company uses the allowance method to estimate uncollectible accounts.  The company estimates that bad debts expense for the year will be 2% of net sales.  The general ledger on December 31, 1999 before any adjustments have been recorded contains the following accounts and normal balances.

	Sales
	542,600
	
	Accounts Receivable
	137,840

	Sales Discounts
	7,860
	
	Allowance for Uncollectible Accounts
	1,970 cr

	Sales Returns & Allowances
	3,940
	
	Bad Debts Expense
	Zero


TABLE 2

(for questions 47 through 52)

On April 1, 1999 Abbey Donald and Sam Trump agreed to form a partnership to operate a real estate agency.  The name of the company was to be Donald & Trump Real Estate.  Each partner agreed to invest the following assets in the new business:

	
	Donald
	
	Trump

	
	Original Cost
	Market Value
	
	Original Cost
	Market Value

	Cash
	10,000
	10,000
	
	
	

	Computer Equipment
	20,000
	10,000
	
	
	

	Office Furniture
	40,000
	20,000
	
	
	

	Land
	
	
	
	5,000
	20,000

	Building
	
	
	
	25,000
	40,000


The columns marked “original cost” indicate the original cost of the items paid by each individual on various dates prior to the partnership formation.  Donald and Trump hired a certified appraiser to give them a current market value of the various assets.  The findings of the appraiser appear in the “market value” columns.

On November 15, 1999 Abbey Donald withdrew cash of $10,000 for personal use and Sam Trump withdrew $15,000.  The net income for the year ended 12-31-99 was $84,000.
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TABLE  3

(for questions 53 through 64)

PLANT ASSET RECORD

ITEM______Motor Coach_(Bus)_______________  DISPOSAL VALUE__$50,000____

GENERAL LEDGER ACCOUNT ___Travel Equipment________________________

DEPRECIATION METHOD_______Straight Line________    ESTIMATED LIFE 10 yrs_



   ASSET
 ACCUMULATED DEPRECIATION


   BOOK

  DATE
    COST
  DEBIT      CREDIT      BALANCE


  VALUE
7-10-99  $160,000











________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

PLANT ASSET RECORD

ITEM_______Passenger Van__________________  DISPOSAL VALUE__$5,000____

GENERAL LEDGER ACCOUNT ___Travel Equipment_________________________

DEPRECIATION METHOD__Double Declining Balance___   ESTIMATED LIFE_5 yrs_



   ASSET
ACCUMULATED DEPRECIATION
 
         BOOK

  DATE
    COST
   DEBIT      CREDIT      BALANCE


  VALUE
_1-3-99  $_60,000_






 




________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________
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TABLE 4

(for questions 65 through 69)

Larry’s Computer Shop has the following inventory data for a particular line and size of hard disk drive.

	January 1 Beginning Inventory 
	80
	Units @ $110
	

	February Purchases
	70
	Units @ $105
	

	April Purchases
	80
	Units @ $105
	

	June Purchases
	50
	Units @ $100
	

	September Purchases
	30
	Units @ $100
	

	November Purchases
	65
	Units @ $90
	

	
	
	
	


TABLE  5

(for questions 70 through 80)

All the employees of the Happy Camper Shop enjoy practical jokes as much as they enjoy camping.  The accountant had prepared on a spread sheet program the complete and accurate financial statements as of December 31, 1999.  Another employee (as a practical joke) erased some of the data in the financial statement spread sheet file.  All the amounts remaining are correct.

Later when the accountant printed the financial statements, he was faced with the task of replacing the missing data.  The financial statements are found on page 12.

Additional Facts:

1. Equipment consists of one asset bought on 7-12-97, with a salvage value of 

$5,000, and an estimated useful life of 5 years.  The straight line method is 

used.

2. On January 1, 1999 the balance in the account called Allowance for 

Uncollectible Accounts had a credit balance of $4,830.  In July of 1999 a 

customer’s account in the amount of $1,250 was written off.  The company 

uses 2% of gross (or total) sales to estimate its bad debts expense.

3. In the trial balance column of the work sheet for the year ended 12-31-99 

      Prepaid Insurance had a normal balance of $4,200 and Supplies had a normal 

      balance of $2,750.

4. The gross profit percentage is 20% of net sales.

5. There were no owner investments made in 1999.
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Table 5   (for questions 70 through 80)

The Happy Camper Shop

Income Statement

For the Year Ended December 31, 1999

	Revenue:
	
	
	
	

	 Sales
	
	
	 
	

	 Sales Returns & Allowances
	
	 2000
	
	

	 Sales Discounts
	
	 2200
	
	

	   Net Sales
	
	
	
	 46050

	Cost of Merchandise Sold:
	
	
	
	

	 Merchandise Inventory, Jan. 1
	
	
	 5200
	

	 Purchases
	       
	
	
	

	 Transportation In
	          2000
	
	
	

	 Cost of Delivered Merchandise
	
	 
	
	

	 Purchases Returns & Allowances
	          1200
	
	
	

	 Purchases Discounts
	            840
	 
	
	

	 Net Purchases
	
	
	 
	

	 Cost of Merchandise Available for Sale
	
	
	 
	

	 Merchandise Inventory, December 31
	
	
	 
	

	   Cost of Merchandise Sold
	
	
	
	

	Gross Profit on Sales
	
	
	
	 

	Expenses:
	
	
	
	

	 Rent Expense
	
	
	 12000
	

	 Insurance Expense
	
	
	
	

	 Supplies Expense
	
	
	 
	

	 Utilities Expense
	
	
	 3480
	

	 Bad Debts Expense
	
	
	 
	

	 Depreciation Expense
	
	
	 
	

	    Total Expenses
	
	
	
	

	Net Income (Loss)
	
	
	
	


The Happy Camper Shop

Balance Sheet

December 31, 1999

	ASSETS
	
	
	

	 Cash in Bank
	
	 18400
	

	 Accounts Receivable
	            45000
	
	

	 Allowance for Uncollectible Accounts
	 
	 
	

	 Merchandise Inventory
	
	 6400
	

	 Supplies
	
	 1860
	

	 Prepaid Insurance
	
	 2900
	

	 Equipment
	            25000
	
	

	 Accum. Depr.—Equip
	 
	 
	

	    Total Assets
	
	
	 

	LIABILITIES
	
	
	

	 Accounts Payable
	
	
	 14800

	CAPITAL
	
	
	

	 Randy Hamilton, Capital, January 1
	
	85140
	

	 Plus (Less) Net Income (Loss)
	
	 
	

	 Less Owner Withdrawals
	
	 1500
	

	 Randy Hamilton, Capital, December 31
	
	
	

	Total Liabilities and Capital             
	
	
	 


